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E–397 

M. A. (Second Semester) (Main/ATKT) 

EXAMINATION, May-June, 2021 
SOCIOLOGY 

Paper Eighth 

(Sociology of Development) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- Hkkjr dh vFkZO;oLFkk fdl izdkj dh gS \ 

¼v½ [kqyh 
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¼c½ fefJr 

¼l½ iw¡thoknh 

¼n½ lektoknh 

What is India’s economy like ? 

(a) Open 

(b) Mixed 

(c) Capitalist 

(d) Socialist 

2- fuEufyf[kr esa ls dkSu&lk lkoZtfud {ks= dk ,d laxBu gS \ 

¼v½ lsy 

¼c½ VkVk lewg 

¼l½ fcjyk lewg 

¼n½ ¼c½ rFkk ¼l½ nksuksa 

Which of the following is an organization of public  

sector ? 

(a) SAIL 

(b) Tata Group 

(c) Birla Group 

(d) Both (b) and (c) 
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3- tsaMj ,d 
-------------------------

 vo/kkj.kk gSA 

¼v½ lkaLd`frd 

¼c½ lkekftd 

¼l½ laLFkkxr 

¼n½ ¼v½ rFkk ¼c½ nksuksa 

Gender is a ................ concept. 

(a) Cultural 

(b) Social 

(c) Institutional 

(d) Both (a) and (b) 

4- fuEufyf[kr esa ls dkSu&lk vkS|ksxhdj.k dk ifj.kke gS \ 

¼v½ uxjhdj.k 

¼c½ xanh cLrh dk fodkl 

¼l½ i;kZoj.k iznw”k.k 

¼n½ mi;qZDr lHkh 

Which of the following is the consequence of 

Industrialization ? 

(a) Urbanization 

(b) Development of slum 

(c) Environmental pollution 

(d) All of the above 
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5- Hkkjr esa izokl dk eq[; dkj.k fuEufyf[kr esa ls dkSu&lk gS \ 

¼v½ csjkstxkjh 

¼c½ ekSleh d`f”k 

¼l½ _.kxzLrrk 

¼n½ mi;qZDr lHkh 

Which of the following is the main cause of migration in 

India ? 

(a) Unemployment 

(b) Seasonal cultivation 

(c) Indebtedness 

(d) All of the above 

6- ;wuhlsQ dk iw.kZ :i D;k gS \ 

¼v½ ;wukbVsM us’kUl baVjus’kuy pkbYM bejtsalh QaM 

¼c½ ;wukbVsM us’kUl baVhxzsVsM pkbYM bejtsalh QaM 

¼l½ ;wuhQkWeZ us’kUl baVhxzs’ku fpYMªu QaM 

¼n½ mi;qZDr esa ls dksbZ ugha 

What is the full form of UNICEF ? 

(a) United Nations International Child Emergency Fund 

(b) United Nations Integrated Child Emergency Fund 

(c) Uniform Nations Integration Children Fund 

(d) None of the above 
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7- ,p- Mh- vkbZ- dk eq[; ?kVd D;k gS \ 

¼v½ izfr O;fDr vk; 

¼c½ f’k{kk 

¼l½ LokLF; 

¼n½ mi;qZDr lHkh 

What is the main component of HDI ? 

(a) Per Capita Income 

(b) Education 

(c) Health 

(d) All of the above 

8- Hkkjr esa ubZ vkfFkZd uhfr dk iz.ksrk fdl jktusrk dks ekuk tkrk gS \ 

¼v½ ek[ku yky iksrsnkj 

¼c½ jktho xka/kh 

¼l½ MkW- eueksgu flag 

¼n½ lhrkjke ds’kjh 

Which politician is the leader of the New Economic  

Policy ? 

(a) Makhanlal Potedar 

(b) Rajeev Gandhi 

(c) Dr. Manmohan Singh 

(d) Sitaram Keshari 
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9- ekuo fodkl lwpdkad 2020 esa Hkkjr fdl LFkku ij Fkk \ 

¼v½ 132 

¼c½ 131 

¼l½ 127 

¼n½ 128 

What rank was India in the Human Development Index 2020 ? 

(a) 132 

(b) 131 

(c) 127 

(d) 128 

10- izFke iapo”khZ; ;kstuk dk eq[; mís’; D;k Fkk \ 

¼v½ d`f”k {ks= dk fodkl 

¼c½ xjhch mUewyu 

¼l½ vkS|ksxhdj.k 

¼n½ ¼v½ rFkk ¼c½ nksuksa 

What was the main objective of the first five year  

plan ? 

(a) Development of agriculture sector 

(b) Poverti eradication 

(c) Industrialization  

(d) Both (a) and (b) 



 [ 7 ] E–397 

 P. T. O. 

11- vkj- Vh- bZ- dk iw.kZ :i D;k gS \ 

¼v½ jkbV Vw buQkWjesa’ku 

¼c½ jkbV Vw ,foMsal 

¼l½ jkbV Vw ,twds’ku 

¼n½ jkbV Vw VsDuhdy ,twds’ku 

What is the full form of RTE ? 

(a) Right to Information 

(b) Right to Evidence 

(c) Right to Education 

(d) Right to Technical Education 

12- Hkkjr dh ubZ vkfFkZd uhfr dc ykxw dh x;h gS \ 

¼v½ 1991 

¼c½ 1993 

¼l½ 1990 

¼n½ 1992 

When was the new economic policy implemented in India ? 

(a) 1991 

(b) 1993 

(c) 1990 

(d) 1992 
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13- Hkkjr esa vkS|ksxhdj.k dks fdl iapo”khZ; ;kstuk ds vUrxZr c<+kok 

feyk \ 

¼v½ uoha 

¼c½ f}rh; 

¼l½ r`rh; 

¼n½ izFke 

Industrialization in India got a boost under which five year 

plan ? 

(a) 9th 

(b) 2nd 

(c) 3rd 

(d) 1st 

14- ßoS’ohdj.k eq[; :i ls ,d vkfFkZd izfØ;k gSAÞ ;g dFku gS % 

¼v½ lR; 

¼c½ vlR; 

“Globalization is primarily an economic process.” This 

statement is : 

(a) True 

(b) False 
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15- fuEufyf[kr esa ls dkSu&lk fodkl dk ifj.kke gS \ 

¼v½ ikfjfLFkfrdh; iru 

¼c½ izokl 

¼l½ foLFkkiu 

¼n½ mi;qZDr lHkh 

Which of the following is the consequence of development ? 

(a) Ecological degradation 

(b) Migration 

(c) Displacement 

(d) All of the above 

16- fuEufyf[kr esa ls fdls ubZ vkfFkZd uhfr ds ifj.kke ds :i esa tkuk 

tkrk gS \ 

¼v½ uxjhdj.k 

¼c½ mnkjhdj.k 

¼l½ futhdj.k 

¼n½ ¼c½ rFkk ¼l½ nksuksa 

Which among the following is know as the result of the new 
economic policy ? 

(a) Urbanization 

(b) Liberalization 

(c) Privatization 

(d) Both (b) and (c) 
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17- ßizkS|ksfxdh; o`f) vk/kqfudhdj.k gSAÞ fdlus dgk gS \ 

¼v½ tsEl vks* dsUusy 

¼c½ Qwdks 

¼l½ ;ksxsUnz flag 

¼n½ ,l- lh- nqcs 

“Technological growth is a modernization.” Who said ? 

(a) James O’cannel 

(b) Foucault 

(c) Yogendra Singh 

(d) S. C. Dube 

18- Hkkjr esa vkS|ksfxdhdj.k dk tud fdls dgk tkrk gS \ 

¼v½ MkW- Hkhejko vacsMdj 

¼c½ MkW- jktsUnz izlkn 

¼l½ ia- tokgj yky usg: 

¼n½ mi;qZDr esa ls dksbZ ugha 

Who is called father of Industrialization in India ? 

(a) Dr. Bhimrao Ambedkar 

(b) Dr. Rajendra Prasad 

(c) Pt. Jawahar Lal Nehru 

(d) None of the above 
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19- lrr fodkl dk rRo gS % 

¼v½ i;kZoj.k 

¼c½ vkfFkZd iz.kkyh 

¼l½ lekt 

¼n½ mi;qZDr lHkh 

The element of sustainable development is : 

(a) Environment 

(b) Economic system 

(c) Society 

(d) All of the above 

20- vkbZ- vkj- Mh- ih- ;kstuk dc izkjEHk gqbZ \ 

¼v½ 1978 

¼c½ 1979 

¼l½ 1980 

¼n½ mi;qZDr esa ls dksbZ ugha 

When did IRDP Yojana start ? 

(a) 1978 

(b) 1979 

(c) 1980 

(d) None of the above 
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 [k.M&c izR;sd 2 

(Section—B) 

vfry?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- fodkl ls vki D;k le>rs gSa \ 

What do you understand by development ? 

2- ekDlZoknh fl)kUr D;k gS \ 

What is Marxian Theory ? 

3- lwpuk izkS|ksfxdh dks ifjHkkf”kr dhft,A 

Define information technology. 

4- tSo izkS|ksfxdh D;k gS \ 

What is Bio-technology ? 

5- oS’ohdj.k dks ifjHkkf”kr dhft,A 

Define Globalization. 

6- fu;kstu dks ifjHkkf”kr dhft,A 

Define Plane. 

7- ikfjfLFkfrdh ra= D;k gS \ 

What is Ecosystem ? 
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8- lkoZtfud {ks= ls vki D;k le>rs gSa \ 

What do you understand by Public Sector ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- lkekftd fodkl dh vo/kkj.kk Li”V dhft,A 

Explain the concept of Social Development. 

2- izokl ds izeq[k dkjdksa dks Li”V dhft,A 

Explain the major causes of migration. 

3- lwpuk izkS|ksfxdh ds izHkko dh ppkZ dhft,A 

Discuss the impact of Information Technology. 

4- ekuo fodkl lwpdkad ij fVIi.kh fyf[k,A 

Write note on human development index. 

5- ubZ vkfFkZd uhfr ij fVIi.kh fyf[k,A 

Write note on New Economic Policy. 

6- fodkl vkSj foLFkkiu esa vUrlZEcU/k Li”V dhft,A 

Explain the interrelationship between development and 

displacement. 
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7- fefJr vFkZO;oLFkk dh fo’ks”krk,¡ fyf[k,A 

Write the characteristics of Mixed Economy. 

8- vuqlwfpr tkfr rFkk vuqlwfpr tutkfr dh vo/kkj.kk Li”V dhft,A 

Explain the concept of schedule caste and schedule tribe. 

 [k.M&n izR;sd 4 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- fodkl ds ekDlZoknh fl)kUr dh O;k[;k dhft,A 

Explain the Marxian theory of development. 

vFkok 

(Or) 

fodkl ds rRoksa dh foospuk dhft,A 

Discuss the elements of development. 

2- fodkl ij lwpuk izkS|ksfxdh ds izHkko dh ppkZ dhft,A 

Discuss the impact of information technology on 
development. 

vFkok 

(Or) 

lrr fodkl ds lkekftd&lkaLd`frd i{k dh foospuk dhft,A 

Discuss the socio-cultural aspects of sustainable 
development. 
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3- ubZ vkfFkZd uhfr ds lkekftd ifj.kkeksa dh ppkZ dhft,A 

Discuss the social consequences of New Economic  

Policy. 

vFkok 

(Or) 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ f}rh; iapo”khZ; ;kstuk 

¼c½ oS’ohdj.k 

Write short notes on the following : 

(a) Second Five Year Plan 

(b) Globalization 

4- ikfjfLFkfrdh; iru ds dkj.k vkSj izHkko dh ppkZ dhft,A 

Discuss the causes and consequence of Ecological 

Degradation. 

vFkok 

(Or) 

fodkl vkSj lkekftd&vkfFkZd vlekurk ¼fo”kerk½ ij fVIi.kh 

fyf[k,A 

Write note on development and socio-economic  

disparities. 
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5- Hkkjr ds fodkl esa futh {ks= dh Hkwfedk dks Li”V dhft,A 

Explain the role of private sector in development of India. 

vFkok 

(Or) 

laiksf”kr fodkl D;k gS \ foLrkj ls le>kb;sA 

What is sustainable development ? Explain in detail. 
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